
344 

 

 

 7-   
 

  271 
 

 
-

  
  -

 
 
 
 
 

 

 

 

DOI: 10.12737/15784 

 



345 
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u0( , )=  f0( , )/( )3,   uk( , )= (fk( , ) uk 1( , ))/( )3, k N. 
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uk( , )= kaO 53 , k . 
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a|< 1/5. 
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u( , , )=V( , , )+W( , , )+Q( , , ),                                        (4) 

0
,,,

k
k

k vV   

3
,,,

k
k

k wW   

= , =( )/ , = 5; 
0

,,,
k

k
kQQ  

=b, =(b )/ , = 2. 

 

W(0, , )= V( , , 5), W( , , ) + ;                         (5) 

Q(0, , )= V(b, , 2), Q( , , ) + .                           (6) 
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v0( , )= (f0( , ) h0( , ))/( a)3, vk( , )= (fk( , ) hk( , ) vk 1( , ))/( a)3. 
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